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Recall: f is integrable if the integral exists (limit of Riemann sums exists) and is finite. 




_H\ﬂie /e @\\ SLJ:’WJ @rp ?0[//2 /?l)

LIGO"J): J f: o1 f;‘:qacmx <COJZ
T, 9€ L’L{EOI\’L) A fig

-

\L ('F )rgﬁlaﬂ)( - g (Qwuxﬁ%\\ olx

L) s Wl B &\d\m g \GW

(Wwq3 9 al “

} gob»« el dx

[ Q
o e wax (€ 05\ < anl argﬂw\
Yj‘ %/& dx C So »«w(@cﬂ 44”8 )

()

_L(%f{'olx-}t(&%{x £ o
L(«J \_,\/——»

MOEE
0 ﬁiﬂﬂbl Cﬂw[ﬂfww

% Yol /'V\7A"”“,7Z*-/ /
0
/goo = { S"t"t:PJt’“LQg cJ'C o | ﬂ‘-’N\L\rS&\OOU"\Aﬂ&%

MV\ %. &1’13:2(: 520\_”5{1)6’13/ . S
= < 9L1)Q—L]C\3) e >























































































































































































































































































































































































































































































































































































































































































































































































































































































































































O <AL 2 e ro
Voo Ty ety TN >
)
Can check that
% O = <@) 0o, , - ,O D all the VSAs
/ro, 7 ;7 hold! (Exercise).
Vew]
Xl —<a, 5" - _ o _
w n<, - < CL\)C,’\'LJ __,\_) CL]’L),-\‘>

< l71) B)q)"“ > % Jloo Can check that

all the VSAs
hold! (Exercise).

Z\ad 4605

! C@Eﬂiﬁﬂw’ffx{ﬂ* Sent ness E

Q= 23 Can check that
Z |q“| < Q(Eall the VSAs

hold! (Exercise).









































































































































































































































































































































































































































































































































































































































































Can check that all the VSAs hold! (Exercise).
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